
motobilt.com | 334-219-2333

MB8002 - Assembly Instructions Switch Pros Dash Mount for 07-11 JK / JKU

REV: 

1

MB8002 - Switch Pros Dash Mount

COMPATIBLE WITH 2007-2011 JEEP WRANGLER JK / JKU

ASSEMBLY INSTRUCTIONS



MB8002-02

Qty 1

#10-24 x 5/8" Socket Head Screw

Qty 4

#6/32 x 1/4" Button Head Screw

Qty 4

#10 Flat Washer

Qty 4

#10-24 Nylon Insert Locknut

Qty 4

motobilt.com | 334-219-2333

MB8002 - Shipping Switch Pros Dash Mount for 07/11 JK / JKU

REV: 

2

CONTENTS



motobilt.com | 334-219-2333

MB8002 - Assembly Instructions Switch Pros Dash Mount for 07-11 JK / JKU

REV: 

3

PRINT THIS SHEET AT A 1:1

SCALE ON 8-1/2" x 11" PAPER.

 

CHECK YOUR PRINT IS 100%

TO SCALE BY USING THE

REFERENCE SCALE ON THE

BOTTOM OF THE SHEET.

 

USE THIS TEMPLATE AS A

GUIDE TO MARK YOUR HOLE

CENTERS & CUTOUT.



motobilt.com | 334-219-2333

MB8002 - Assembly Instructions Switch Pros Dash Mount for 07-11 JK / JKU

REV: 

4

#6/32 x 1/4" Button Head Screw



motobilt.com | 334-219-2333

MB8002 - Assembly Instructions Switch Pros Dash Mount for 07-11 JK / JKU

REV: 

5

USE DRILL TEMPLATE 

ON PREVIOUS PAGE TO 

DRILL 1/4" HOLES

F
R

O
N

T



motobilt.com | 334-219-2333

MB8002 - Assembly Instructions Switch Pros Dash Mount for 07-11 JK / JKU

REV: 

6

#10-24 x 5/8" Socket Head Screw

#10 Flat Washer

#10-24 x 5/8" Socket Head Screw



motobilt.com | 334-219-2333

MB8002 - Assembly Instructions Switch Pros Dash Mount for 07-11 JK / JKU

REV: 

7

ROTATE DASH COVER 

IN PLACE


